
Thursday 14th May 

L.K: Subtracting fractions with different denominators 

Just like when we were adding fractions, we need to check that the denominators are the 

same when we are subtracting fractions. If they aren’t, we need to change them and make 

sure that whatever we do to the denominator, we also do to the numerator! 
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We can see that the denominators are not the same, so we need to change them. We know 

that there are two “5”’s in “10”, so if we double the fraction on the left then we should have 

the same denominators.  
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We now have the same denominators and so can successfully subtract the fractions from 

each other.  

Try these questions: 
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